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//TAUIMN)DIEE(T—2DRFE)
cd c:¥data
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// B8

//T /5‘ JL.J%J_J%

use data_xt_1.dta, clear

/ISR LT —B LR

xtset idcode year

xtdescribe

describe

xtsum

// BT

xttab union

//BEFRINARNL—4

sort idcode year

bysort idcode : g L1_In_.wage=L1.In_wage
bysort idcode : g L2 In_.wage=L2.In_wage
bysort idcode : g F1_In_wage=F1.In_wage
bysort idcode : g F2_In_ wage=F2.In_wage
bysort idcode : g D1_In_.wage=D1.In_wage
bysort idcode : g D2_In_wage=D2.In_wage
browse idcode year In_wage L1 In_wage L2 In_wage F1_In_wage
F2_In_.wage D1_In_.wage D2 _In_wage

//

xtline wage if idcode<=6, saving(wage, replace)

xtline wage if idcode<=6, overlay saving(wage o, replace)
graph combine wage.gph wage_o.gph

ssc install xtgraph
xtgraph wage , av(am) group(city)
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// ERE)RE D HER

sort idcode year )
//EEERIEZYUTILERS

drop if wage==.

//Gwage 0= | AR E| 1= 0 AHE 2= M H»ZE.




20160824 (B24i ). do — Printed on 2016/08/24 0:45:13

44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69

70
11
712
13

74
75
16

117
18
79
80
81
82
83
84

// S=EIVANE, 4=BVERDE

foreach i in 1980 1981 1982 1983 1984 1985 1987 1989 1990 /*
*/1992 1994 1995 1997 1999 2000{

egen G wage i'=cut(wage) if year=="1", group(5)

gen G_wage=.

foreach i in 1980 1981 1982 1983 1984 1985 1987 1989 1990 /*
*/1992 1994 1995 1997 1999 2000{

i'eplace G_wage=G wage i if year=="1'

//BFITH| (19805 —19814F)

xttrans G_wage if year==1980 | year==1981
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//Tips(NERAEVEERIRD T

sort idcode year

list idcode year f eduba in 1/5, noobs

sort idcode year
bysort idcode : gen s f eduba=sum(f_eduba)

list idcode year f eduba s _f eduba in 1/5, noobs
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//0OLS

reg In_wage age age2 tenure tenure2 eduba city married sum_child train
//Fixed

xtreg In_wage age age?2 tenure tenure2 eduba city married sum_child
train, i(idcode) fe

estimates store fe

//LSDV

areg In_wage age age?2 tenure tenure2 eduba city married sum_child
train, absorb(idcode)

//Random

xtreg In_wage age age?2 tenure tenure2 eduba city married sum_child
train, i(idcode) re

estimates store re

xttestO

//Hausman
hausman fe re
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85 //Tips(DIEFHIERDFEEHH -

86 ssc install outreg?2

87 quietly reg In_.wage age age2 tenure tenure2 eduba city married
sum_child train

88 outreg? using panel, ctitle(OLS) replace

89 quietly xtreg In_.wage age age?2 tenure tenure2 eduba city married
sum_child train, i(idcode) fe

90 outreg?2 using panel, ctitle(FE) append

91 quietly xtreg In_.wage age age2 tenure tenure2 eduba city married
sum_child train, i(idcode) re

92 outreg?2 using panel, ctitle(RE) append

93

94 outreg?2 using sum, replace sum(log)

95
06  kkskskokskskskokskskskokskskskokskskskokskskskokskskskokskskskokskskskokkskskokkskskokkok sk ok ok
97 //_IHEE
98 «xi: xtreg In_wage age age? tenure tenure2 eduba city married
sum_child train i.year, i(idcode) fe
99 «xi: testparm i.year
100 skokskskskokokskskokokskskokokskskokokskskokskskskokskskskokskskskokskskskokskskskok sk skskok sk sk sk ok

101 //—[EE5H

102 foreach var in incity outcity marri divo join leave {

103 gen d_var'=0

104 }

105 replace d_incity=1 if D.city>0

106 replace d outcity=1 if D.city<0

107 replace d_marri=1 if D.married>0

108 replace d_divo=1 if D.married<0

109 replace d_join=1 if D.union>0

110 replace d_leave=1 if D.union<0

111

112 reg D.In_wage D.age D.tenure D.eduba d_incity d_outcity d_marri d_divo
D.sum_child d_join d_leave, noconstant

113 predict res, residual

114 regres L.res

115

116 findit xtserial

117 net sj 3—2 st0039

118 net install st0039

119 xtserial In_.wage age age? tenure tenure2 eduba city married sum_child

train, output

120

122 //;88
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g univ=1 if eduba>=16 & eduba'=.
replace univ=0 if eduba<16
tab eduba univ
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// 5258

cd c:¥data

use data_xt_1.dta, clear

xtset idcode year

xtlogit train age age2 eduba married union city, fe nolog or
estimates store FE

margins, dydx(*) atmeans

margins, dydx(married union) at(age=(20 30 40))
marginsplot, noci

//MALTNG BEHES - unionDBRICESL T REHEY
// n BRETEIEEH

// N SETEIZHE

//browse idcode year union frac d_ n d_N

// Bl & B R EE LM fracZenulllZ \
//EEEEMATHNIX0, EEEEMATHNIL

bysort idcode : g frac=sum(train) / sum(train<.)

bysort idcode : replace frac=. if _n < _N

tabulate frac

quietly logit train age age2 eduba married union city, or
hausman FE ., eq(1:1)

xtlogit train age age2 eduba married union city, re nolog or
hausman FE ., eq(1:1)
margins, dydx(*) atmeans
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/B

cd c:¥data

use data_xt_1.dta, clear

xtset idcode year

//ARABENEEN98OFELIFL ALY, BEMBELXTRIBELIRTET S
bysort idcode : g d n=n

gunm = 1 if d_n==1 & married==0 & sum_child==0

Page 4



20160824 (B24i ). do — Printed on 2016/08/24 0:45:13

167
168
169
170
171
172
173
174
175
176
1717
178
179
180
181
182
183
184
189
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210

bysort idcode : g s_ unm=sum(unm)

tab s_unm )
//NEERIBY VT ILIZRRE

keep if s_unm==1

bysort idcode : g s_ married=sum(married)

//§EVE2EE B LIED Y T ILILHIER
drop if s_married>=2

skokokskokokskokokskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskok sk skok sk okok
skokokskokokskokokskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskok sk skok sk okok
skokokskokokskokokskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskokskskok sk skok sk okok
//E35H

//Open “data xt 2 DTA”

save data_xt_2, replace

use data_xt_2, clear

xtset fcode year

keep if year<=1988

//1998F LIE [CgrantZ Z [T1-M ED ML MFERH L
//ZDT=80 ., 1997 [FgrantH 7LV =8,
//ETHOEZEMNgrant=0ELL\VSFERIZHS

//ZCTIE N98FE(IZFHENERTEHMNEIMELD

/ /& hZ RS . treatment group&control groupZ{EA(“treat”)

g treat=1 if (F1.grant==1&year==1987) | (grant==18& year==1988)
replace treat=0 if (F1.grant==0&year==1987) | (grant==08& year==1988)

tab treat year, sum(scrap)

display 4.1917143 —4.7554286
display 3.0436842 — 4.3468421
display —1.3031579 +.5637143

g treat_88=treat*d88
reg scrap treat d88 treat_88
reg D.scrap D.grant
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// BB
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//Tips(3)T—2MDEC | ZE #2

use data_xt_1, clear

list idcode year In_.wage in 1/10

keep idcode year In_wage

reshape wide In_wage, i(idcode) j(year)

list idcode In_wage1980—In_wage1985 In_ wage1983 in 1/10
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